ﬂé Finding Product (3 x 2) Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A coat manufacturer puts 615 coats in a shipment. If they sent out 40 shipments, how many
coats would they have sent out?

The booths at the state fair make 417 dollars an hour. How much money would they have
earned after 52 hours?

Each day the gumball machine in the mall sells 305 gum balls. How many gum balls would
they have sold after 74 days?

If an industrial machine could make 259 pencils in a second, how many pencils would it
have made in 64 seconds?

A fundraising company went to 341 different schools delivering 86 boxes of candy to each
school. How many boxes did they deliver total?

Mariawas building a LEGO tower. She built it with 424 stories and with 12 blocks on each
story. How many LEGO blocks would she have used?

A golf course driving range goes through 859 golf balls a day. How many golf balls would
they go through in 77 days?

There are 683 hotels in ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ?

A pallet of toggle bolts weighs 962 kilograms. If awarehouse has 14 pallets, what is their
total weight?

A movie theater sells 804 buckets of popcorn aday. If each bucket has 43 pieces of
popcorn in it, how many pieces do they sell in aday?

Answers

10.
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ﬂé Finding Product (3 x 2) Name. Answer Key
Solve each problem. Answers
1) A coat manufacturer puts 615 coats in a shipment. If they sent out 40 shipments, how many
coats would they have sent out? 1 24.600
> 21,684
2) The booths at the state fair make 417 dollars an hour. How much money would they have
earned after 52 hours? 3 22,570
4 16,576
3) Each day the gumball machine in the mall sells 305 gum balls. How many gum balls would
they have sold after 74 days? 5 29,326
6. 5,088
4) If anindustria machine could make 259 pencilsin a second, how many pencils would it
have made in 64 seconds? 7 66,143
s 24,588
5) A fundraising company went to 341 different schools delivering 86 boxes of candy to each
school. How many boxes did they deliver total? 9 13,468
0. 34572
6) Mariawas building a LEGO tower. She built it with 424 stories and with 12 blocks on each
story. How many LEGO blocks would she have used?
7) A golf course driving range goes through 859 golf balls a day. How many golf balls would
they go through in 77 days?
8) There are 683 hotelsin ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ?
9) A pallet of toggle bolts weighs 962 kilograms. If a warehouse has 14 pallets, what is their
total weight?
10) A movietheater sells 804 buckets of popcorn aday. If each bucket has 43 pieces of

popcorn in it, how many pieces do they sell in aday?
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ﬂé Finding Product (3 x 2) Name:

Solve each problem.

7 N
22,570 5,088 16,576 66,143 24,588
29,326 13,468 34,572 24,600 21,684

\ Y

1) A coat manufacturer puts 615 coats in a shipment. If they sent out 40 shipments, how
many coats would they have sent out?

2) The booths at the state fair make 417 dollars an hour. How much money would they have
earned after 52 hours?

3) Each day the gumball machine in the mall sells 305 gum balls. How many gum balls
would they have sold after 74 days?

4) If anindustria machine could make 259 pencilsin a second, how many pencils would it
have made in 64 seconds?

5) A fundraising company went to 341 different schools delivering 86 boxes of candy to each
school. How many boxes did they deliver total?

6) Mariawas building a LEGO tower. She built it with 424 stories and with 12 blocks on
each story. How many LEGO blocks would she have used?

7) A golf course driving range goes through 859 golf balls a day. How many golf balls would
they go through in 77 days?

8) There are 683 hotelsin ahotel chain. If each hotel has 36 rooms, how many rooms are
there total ?

9) A pallet of toggle bolts weighs 962 kilograms. If a warehouse has 14 pallets, what is their
total weight?

10) A movie theater sells 804 buckets of popcorn aday. If each bucket has 43 pieces of

popcorn in it, how many pieces do they sell in aday?
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